2HERR L ORI AIER
(2) BEHEH

<NRFBRKF > SH6ESA1HIRE
e s ——— - ~407% 41~50%% 51~60%% 61m%~ At
3 8 3 8 3 28 3 28 3 8
Big 2 2 5 3 7 5
HERIR 1 3 2 1 4 1 6 6
AEBEFH |EBIT 24— 2 2R 14 B3 - BEHRE 1 0 L
BhF 0 0
Et 1 0 3 2 3 7 6 3 13 12
Big 4 2 6 0
HRIR 1 2 1 2
=TT A TTYA 2R 10 Bh3K - BE(LFEAM 1 1 1 2 1
BhF 0 0
e Et 1 1 1 0 5 2 2 0 9 3
Big 1 1 2 2 2 4 4
HERIR 1 1 1 1 2
BEII2z45— 3 257 10 Bh3K - BE(LFEAM 0 0
BhF 0 0
Et 0 0 1 1 2 3 2 2 5 6
Big 1 1 1 1 2 2
HERIR 2 0 2
A2 —varta® 8 Bh3K - BE(LFEAM 1 1 0
BhF 0 0
Et 0 0 2 2 0 1 1 1 3 4
Big 3 1 3 1 6 2
HERIR 1 3 2 1 1 6
BEREFH 10 Bh3K - BE(LFEAM 1 0 1
BhF 0 0
AR Et 0 1 1 3 3 3 3 2 7 9
Big 3 2 3 2
HERIR 1 2 2 2 1 4 4
NG =g =2r 10 Bh3K - BE(LFEAM 0 0
BhF 1 1 0
IEt 1 0 1 2 5 2 1 2 8 6
>t 1 3 1 4 4 5
HERIR 1 1 1 2 1
DIRER 10 Bh3K - BE(LFEAM 0 0
BhF 2 2 0
IEt 2 0 1 2 4 0 1 4 8 6
>t 3 1 4 0
HERIR 2 3 5 0
BEEAFR 8 Bh3K - BE(LFEAM 7 2 1 1 8 3
BhF 0 0
IEt 7 2 3 1 6 0 1 0 17 3
>t 1 1 2 1 3 2
HERIR 1 2 1 2
EEERRZR 8 Bh3K - BE(EFEAM 2 2 0
BhF 1 2 1 2
REEERRIMTE e 3 2 1 0 1 3 2 1 7 6
El ¢ 1 4 1 5 1
HERIR 1 2 1 2 2
BRI Y 8 Bh3K - BE(LFERM 1 2 0 3
BhF 1 2 1 2
Et 1 3 0 3 3 1 4 1 8 8
Big 1 3 2 1 5
HERIR 1 2 3 4 3 7
BEFH 12 Bh3K - BE(LFERM 1 1 4 1 5
BhF 1 0 1
IEt 2 1 2 7 1 8 0 2 5 18
AESRICELHE 42
Big 0 0 2 1 22 10 21 17 45 28
HERIR 2 0 12 15 10 18 2 1 26 34
a5t 150 Bh¥ - E{EFEET 11 6 2 7 1 1 0 0 14 14
BhF 5 4 0 0 0 1 5 5
IEt 18 10 16 23 33 30 23 18 90 81
X¥Eh (15, kUPhD)
Ky 2—TE2HEET
<NREFERAFZRZR > XAKFOHENFE T 2HE %K<
— B i ~407% i i 41~50ﬁ; i 51~60ﬁ\ i 61m%~ i i AEt i
B(FAD) | Z(EFED) | BEL)  &ED | BEM | &(EGD) | BEMD | =(FE6D) | BEMD | & (F46D)
NEFBFHEE iz 1 0 1
rREFMRR iz 1 1 0
NG 0 0
REEEERIFHTR 0 0
EEFHRE iz 3 0 3
iz 2 2 0
BULERE Y %2 4 > FIRER
IR 1 0 1
&5t 0 0 0 0 0 0 1 4 1 4




